Лексика
I. Выберите слово, близкое по значению данному.
	1. small
	a) strong
	b) little
	c) large

	2. enjoy
	a) like
	b) employ
	c) apply

	3. middle
	a) bottom
	b) top
	c) center

	4. city
	a) settlement
	b) town
	c) village


II. Выберите слово, противоположное по значению данному.
	5. different
	a) unlike
	b) various
	c) same

	6. new
	a) modern
	b) old
	c) recent

	7. learn
	a) study
	b) examine
	c) teach

	8. except
	a) including
	b) besides
	c) beside


III. Выберите русский вариант, соответствующий данному английскому.
	9. most of the newcomers
	a) многие приезжие
b) большинство приезжих
c) все приезжие

	10. until the World War II
	a) после второй мировой войны
b) во время второй мировой войны
c) до второй мировой войны

	11. side by side
	a) на стороне
b) рядом
c) со стороны

	12. the second biggest city
	a) второй крупнейший город
b) второй крупный город
c) второй из крупнейших городов


IV. Найдите слово, выпадающее из данной тематической группы.
	13.
	a) number
	b) group
	c) quantity
	d) style

	14.
	a) way
	b) manner
	c) example
	d) method

	15.
	a) almost
	b) usually
	c) generally
	d) often

	16.
	a) quite
	b) except
	c) completely
	d) perfectly


V. Найдите слово, объединяющее данную тематическую группу.
	17.
	a) maple
	b) pine
	c) tree
	d) fir

	18.
	a) president
	b) head
	c) queen
	d) director

	19.
	a) mother
	b) father
	c) children
	d) family

	20.
	a) Quebec
	b) Ontario
	c) Province
	d) Manitoba


VI. Заполните пропуски словами, приведенными ниже и подчеркните их.
21. Any religious group in Canada can practice its … religion openly.
22. In 1842, half the people in Canada were of French ….
23. All … in Canada must be constitutionally equal.
24. Many Canadians have expressed the … that if Quebec wants to leave, it should be allowed to do so.
25. Many Canadians think that it is necessary to preserve Canada’s … multicultural society.
	a) feeling
	b) provinces
	c) own
	d) bilingual
	e) origin
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I. По суффиксу определите, какому из английских слов соответствует предъявленное русское слово.
	1. национальность
	a) national
b) nationality
c) nation

	2. по-разному
	a) difference
b) different
c) differently

	3. правитель
	a) governor
b) government
c) governmental

	4. представление
	a) representative
b) representation
c) representational

	5. равные
	a) equal
b) equality
c) equally


II. Образуйте однокоренные существительные от данных глаголов, используя суффиксы, стоящие в скобках, и переведите их.
6. employ (ment)
7. enjoy (ment)
8. speak (er)
9. play (er)
10. depend (ence)
III. Из данных предложений выпишите те, сказуемое в которых стоит в Present Perfect. Подчеркните в них сказуемое и переведите предложения.
11. New immigrants to Canada had little money and no sponsors to help them.
12. Since the end of the war, people have come to live in Canada from almost every country in the world.
13. Canada has a new flag with a red maple leaf in the middle.
14. Canada has become a country of many cultures.
15. Canada became very wealthy because of all the things it produced.
IV. Закончите предложения одной из предложенных форм.
16. All of the differences … very much a part of what is so special about Canada today.
a) have become		b) are becoming		c) became
17. Nowadays, more and more Anglophones … to Ontario where mostly English is spoken.
a) move			b) are moving		c) had moved
18. Canada … to treat her own non-white citizens as generously as they deserve.
a) had just begun		b) has just begun		c) is just beginning
19. After the US … a lot of money in Canada, there were many jobs.
a) had invested		b) has invested		c) invest
V. Какое из русских предложений соответствует предъявленному английскому.
20. The Indian and Eskimo populations have grown in the last few years.
a) Число индейцев и эскимосов растет в последние годы.
b) Число индейцев и эскимосов выросло в последние годы.
21. Immigration has changed the face of Quebec.
a) Иммиграция меняет облик Квебека.
b) Иммиграция изменила облик Квебека.
22. According to the statistics Quebec’s birthrate is dropping.
a) Согласно статистике рождаемость в Квебеке падает.
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